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Exercise 1 (MCQ). [10]
1. Which one of the following terms is defined as the management of a firm's long-term investments?
0. Working capital management.
0. Financial allocation
0. Agency cost analysis.
0. Capital budgeting.
0. Capital structure
1. A common-size balance sheet helps financial managers determine:
0. which customers are paying on a timely basis.
0. if costs are increasing faster or slower than sales.
0. if changes are occurring in a firm's mix of assets.
0. if a firm is generating more or less sales per dollar of assets than in prior years.
0. the rate at which the firm's dividends are changing.

1. Which of the following individuals have unlimited liability based on their ownership interest?
0. General Partner
0. Sole proprietor
0. Stockholder.
0. Limited partner.

1. Which one of the following will increase the profit margin of a firm, all else constant?
0. Increase in interest paid.
0. Increase in fixed costs.
0. Increase in depreciation expense.
0. Decrease in the tax rate.
0. Decrease in sales.

1. Firm A has a Return on Equity equal to 24%, while firm B has a ROE of 15% during the same year. Both firms have a total debt ratio equal to 0.8. Firm A has an asset turnover ratio of 0.9, while firm B has an asset turnover ratio equal to 0.4. From this we know that
0. Firm A has a higher profit margin than firm B
0. Firm B has a higher profit margin than firm A
0. Firm A and B have the same profit margin
0. Firm A has a higher equity multiplier than firm B






1. An increase in which one of the following accounts increases a firm’s current ratio without affecting its quick ratio?
0. Account payable 
0. cash
0. Account receivable
0.  inventory 

1.   DJ, Inc., has net working capital of $3,810, current liabilities of $5,600, and inventory of $4,840. Current ratio is:
a)  1.98 times            
b) 1.77 times 
c) 1.68 times
d)  1.86 times

1. A firm has a current ratio of 1.4 and a quick ratio of 0.9. Given this, you know for certain that the firm:
0. pays cash for its inventory
0. has more than half its current assets invested in inventory.
0. has more cash than inventory.
0. has more current liabilities than it does current assets.
0. has positive net working capital.

1. Which one of the following best indicates a firm is utilizing its assets more efficiently than it has in the past?
a) Decrease in the capital intensity ratio
b) Increase in days' sales in receivables
c) Decrease in the profit margin
d) Decrease in the inventory turnover rate

1. Which one of the following is the maximum growth rate that a firm can achieve without any additional external financing?
a) DuPont rate
b) External growth rate
c) Sustainable growth rate
d) Internal growth rate
e) Cash flow rate




Exercise 2. [6]
Cusic industries had the following operating results for 2019:
Sales=$24,360: cost of goods sold=$17,600; depreciation expense=$3,400; interest expense=$860; dividends paid=$790. At the beginning of the year, net fixed assets were $18,650, current assets were $5,560, and current Liabilities were $3,040. At the end of the year, net fixed assets were $21,180, current assets were $6,410, and current liabilities were $3,445. The tax rate was 21 percent. 

a) What is the net income for 2019?
b) What is the operating cash flow for 2019? 
c) What is the cash flow from assets for 2019? Is this possible? Explain. 
d) If no new debt was issued during the year. What is the cash flow to creditors? What is the cash flow to stockholders? Explain and interpret the positive and negative signs of your answer in (i) through (iv). 

Answer:
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Exercise 3 [4]
Just Dew It Corporation reports the following balance sheet information for 2008 and 2009.
[image: ]

0. Based on the balance sheets given for Just Dew It, calculate the following 
financial ratios for each year: 
a) Quick ratio
Quick ratio 2008= 48.7 %
Quick ratio 2009= 52.27%

b) Cash ratio.
Cash ratio 2008= 13.73%
 Cash ratio 2009=15.82%
 

c) NWC to total assets ratio. 
NWC to total assets ratio 2008= NWC/ total asset = 0.02times
NWC to total assets ratio 2009= NWC/ total asset =0.037 times


d) Debt–equity ratio and equity multiplier. 
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Equity multiplier= Assets/Total equity

Debt–equity ratio 2008= 0.11
equity multiplier 2008= 1.41
Debt–equity ratio 2009=0..14
equity multiplier 2009=1.42



Exercise 4. [10]
The most recent financial statements for Scott, Inc., appear below sales for 2020 are projected to grow by 20 percent. Interest expense will remain constant: the tax rate and the dividend payout rate also will remain constant. Costs, other expenses, current assets, fixed assets, and accounts payable increase spontaneously with sales.
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a) Suppose that the firm is operating at full capacity and no new debt or equity is issued, what EFN is needed to support the 20 percent growth rate in sales?
b) Suppose that the firm is operating at 80% full capacity and no new debt or equity is issued, what EFN is needed to support the 20 percent growth rate in sales?
c) Suppose the firm wishes to keep its debt-equity ratio constant.  What is EFN now?




Answer:

a)
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b)
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c)
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To maintain the debt-equity ratio constant, we use the sustainable growth rate:

. ROExb
Sustainable Growth Rate = ———
1-ROExb

ROE = 103,007/304,730 = 0.338 = 0.338
b= 66,783/ 103,007 = 0.648
We deduce the SGR = 28%

By increasing the sales by 28%, we obtain

Proforma Income statement

Sales 1,141,248
Costs 937,711
Other expenses 23,347
EBIT 180, 190
Interest 17,151
Taxable Income 163,039
Taxes 35,868
Net Income 127,171
Dividend 44,721

Addition to retained Earinigs 82,450
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Pro Forma Balance Sheet
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Pro Forma Balance Sheet SCOTT, INC.

Assets Liabilities
Current Assets Current Liabilities
Cash 31,078.40 Accounts Payable 83,456
Accounts Receivable 47,449.60 Notes Payable 16,320
Inventory 106,752
Total 185,280 Total 99,776
Net Fixed Assets Long Term Debt 155,000
Net Plants and Equipment | 505,520 Owners Equity
Common Stock and paid-in 130,000
surplus 174,730
Retained Earnings 387,180
Total Assets 690,800 Total 641,956
EFN 48.844





image83.png
Short-term solvency, or liquidity, ratios

Current a
Current liabilities.

Current assets — Inventory

Current ratio =

Quick ratio — = o Tabilities
chratio— _ Cash
Cashratio = o rent liabilities
. . _ Net working capital
Net working capital to total assets = ~=FnEd ZAPIEL

Current assets

Interval meas e SICIESES
nterval MeasUre = Average dally operating CoSts

Asset management, or turnover, ratios

Cost of goods sold
Inventory turnover = —2> 0" 900CS SOIG

Tnventory
. . __ 365days
Days' sales in inventory = -2 RS
§ _ Sales
Receivables turnover = ———_Sales
. . i 365 days
Days' sales in receivables — g0 CS
_ Sales
NWC turnover = S2es
Fixed asset turnover = Sales
Net fixed assets
Sales
Total asset turnover Total assats

V.

Long-term solvency, or financial leverage, ratios.

. _ Total assets — Total equity
Total debt ratio = =S

Debt-equity ratio — Total debt/Total equity

Equity multiplicr = Total assots/Total equity

Long-term debt

Tong-term debt + Total equity
EBIT

Interest

EBIT + Depreciation
Tnterest

Long-term debt ratio =
Times interest earned ratio =

Cash coverage ratio =
Profitability ratios

_ Net income
Profit margin = Netincome

Return on assets (ROA) = .I’Y:t‘ﬂ:"icfj"‘é

Return on equity (ROE) = .’I‘_‘:"a'l"‘im;

Net income ,, Sales . Assets
ROE — “Ecgles  * Assets * Equity

V. Market value ratios

Price per share

Earnings per share
Price-earnings ratio

Earnings growth rate (%)

) . Prico por sharc
Price-sales ratio = e o share

Market-to-book-ratio — Market value per share
‘Book value per share

Price-earnings ratio

PEG ratio

Market value of assets
Replacement cost of assets

Tobin's Q Ratio =





image7.png




image8.png




image9.png




image10.png




image11.png




image12.png




image13.png




image14.png
a

The income statement is:

Income Statement

Sales $24.360
Cost of goods sold 17.600
Depreciation 3.400
EBIT $3.360
Interest 860
Taxable income $2.500

Taxes

Net income

5

$1.975

OCF = EBIT + Depreciation — Taxes
OCF =$3.360 + 3.400 — 525

OCF =$6.235

Change in NWC

= NWCent - NWCeq

= (CAuni — CLugg) — (CAbeg — CLics)

= ($6.410 — 3.445) — (85,560 — 3,040)
=$2,965 - 2,520

=445
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Net capital spending = NFAens — NF Ape; + Depreciation
=$21.180 — 18.650 + 3.400
=$5.930

CFA = OCF - Change in NWC — Net capital spending
=$6.235-445-5.930
=-$140

The cash flow from assets can be positive or negative, since it represents whether the firm raised
funds or distributed funds on a net basis. In this problem. even though net income and OCF are
positive. the firm invested heavily in both fixed assets and net working capital: it had to raise a
net $140 in funds from its stockholders and creditors to make these investments.

Cash flow to creditors = Interest — Net new LTD
=$860-0
=$860

Cash flow to stockholders = Cash flow from assets — Cash flow to creditors
=-$140 - 860
=-$1.000

We can also calculate the cash flow to stockholders as:
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Cash flow to stockholders = Dividends — Net new equity
Solving for net new equity. we get:

Net new equity = $1.000 — (790)
=$1.790
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The firm had positive earnings in an accounting sense (NI > 0) and had positive cash flow from
operations. The firm invested $445 in new net working capital and $5.930 in new fixed assets.
The firm had to raise $140 from its stakeholders to support this new investment. It accomplished
this by raising $1.790 in the form of new equity. After paying out $790 of this in the form of
dividends to shareholders and $860 in the form of interest to creditors. $140 was left to meet the
firm’s cash flow needs for investment.
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JUST DEW IT CORPORATION
2008 and 2009 Balance Sheets

Assets Liabilities and Owners’ Equity
2008 2009 2008 2009
Current assets Current liabilities
Cash $ 8,436 $10,157 Accounts payable $ 43,050 $ 46,821
Accounts
receivable 21,530 23,406 Notes payable 18,384 17,382
Inventory 38,760 42,650 Total $ 61,434 $ 64,203
Total $ 68,726 $76,213
Long-term debt $ 25,000 $ 32,000
Owners’ equity
Common stock and
paid-in surplus $ 40,000 $ 40,000
Retained earnings 168,998 188,316
Net plant and equipment ~ $226,706 $248,306 Total $208,998 $228,316
Total liabilities and
Total assets $295,432 $324,519 owners’ equity $295,432 $324,519





image23.png




image24.png




image25.png




image26.png
Debt—equity ratio = Total debt/Total equity
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SCOTT, INC.
2019 Income Statement

Sales $891,600
Costs 727900
Other expenses 18,240
Earnings before Interest and taxes $145,460
Interest expense 13,400
Taxable Income $132,060
Taxes (22%) 29,053
Net Income

Dividends $36,224
Addition to retained earnings 66,783
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SCOTT, INC.
Balance Sheet as of December 31, 2019

Assets Liabllities and Owners’ Equity

Current assets Current llabllities
Cash $ 24,280 Accounts payable $ 65,200
Accounts recelvable 37070 Notes payable 16,320
Inventory 83,400 Total $ 81,520
Total $144750  Long-term debt $155,000

Owners’ equity

Fixed assets Common stock and pald-in $130,000
Net plant and equipment $396,500 surplus 174,730
Retalned earnings $304,730
Total assets $541,250 Total $541,250

Total liabllities and owners’ equity
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. Assuming costs vary with sales and a 20 percent increase in sales. the pro forma income statement
will look like this;

Pro Forma Income Statement

Sales $ 1.069.920
Costs 873450
Other expenses

EBIT B

Interest

Taxable income 5161152
Taxes (22%)

Net income 5125699

‘The payout ratio is constant, so the dividends paid this year is the payout ratio from last year times
net income, or:

Dividends = ($36.224/$103,007)($125,699)
Dividends = $44,204

Dividends = ($36.224/$103.007)($125.699)
Dividends = $44.204

And the addition to retained earnings will be:

Addition to retained earnings = $125.699 — 44,204
Addition to retained earnings = $81,495

The new retained earnings on the pro forma balance sheet will be:

New retained earnings = $174.730 + 81.495
New retained earnings = $256.225
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‘The pro forma balance sheet will look like this:

Pro Forma Balance Sheet

Liabilities and Owners” Equity

Assets

Current assets
Cash s 29136
Accounts receivable 44.484
Inventory 00,080
Total s 173700

Fixed assets
Net plant and

equipment 475,800

Total assets

So the EFN is:

Curtent liabilities
Accounts payable
Notes payable

Total

Longterm debt

Owners” equity
Common stock and
paic-in surplus
Retained earnings

Total

Total liabilities and owners

equity

EFN = Total assets — Total liabilities and equity

EFN = $649,500 - 635,785
EFN =813.715

s 78240
16320
$ 04560
155.000
s 130,000
256,225
386225
$__ 635785
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Full Capacity = 891,600 / 0.8 = 1,114,500 which is greater than projected sales 1,096,000.

In a) we assume it would necessary to add 79,300 in fixed asset. As a result, our original estimate
of 13,715 in EFN is too high and consequently, no spending on net fixed asset is needed.

We need only 13,715 — 79,300 = -65,585 Surplus.
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